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QUESTION 1

You want to create an SVM disaster recovery relationship for a production SVM. When you create the destination SVM,
which vserver subtype should you choose? 

A. dp-destination 

B. sync-destination 

C. default 

D. sync-source 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

(missing the Exhibit) 

Referring to the exhibit, what is a valid storage failover scenario? 

A. Node 1 fails and Node 2 takes over Node 1\\'s storage. 

B. Node 2 fails and Node 3 takes over Node 2\\'s storage. 

C. Node 3 fails and Node 1 takes over Node 3\\'s storage. 

D. Node 4 fails and Node 2 takes over Node 4\\'s storage. 

Correct Answer: A 

 

QUESTION 3

Click the Exhibit button. 
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A volume is only 25% full; however, the snapshot reserve is almost full. Referring to the exhibit, what occurs after the
volume\\'s snapshot reserve is full? 

A. The creation of new Snapshot copies fails. 

B. User-created Snapshot copies are deleted, beginning with the oldest, until the snapshot reserve has 20% free
space. 

C. Snapshot copies start consuming the volume\\'s free space. 

D. Scheduled Snapshot copies are deleted, beginning with the oldest, until the snapshot reserve has 20% free space. 

Correct Answer: A 

 

QUESTION 4

Click the Exhibit button. 

Assuming that the export policy on the storage allows access, you want to enable client access to thefinancevolume in
thedepartmentsSVM in the /tmp/fin directory. 

Referring to the exhibit, which UNIX command must be executed to accomplish this task? 

A. mount –t nfs –o nfsvers=3 cluster01:/finance /tmp/fin 

B. mount –t nfs –o nfsvers=3 cluster01:/fin /tmp/fin 

C. mount –t nfs –o nfsvers=3 cluster01:/dept/fin /tmp/fin 
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D. mount –t nfs –o nfsvers=3 cluster01:/departments/finance /tmp/fin 

Correct Answer: D 

 

QUESTION 5

What are two security types available for NFSv3 shares? (Choose two.) 

A. mixed 

B. Kerberos v5 

C. AUTH_SYS 

D. unified 

Correct Answer: BC 
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